ah

renheit

scale is 200°F.

F
Ameasured temperaturei"" g scale 7

What will be its value in C‘:)S 40°C
(a) 93.3°C

(c) 99°C @ 30

select the correct
Match List — | with List=!! ande|ow the lists :

answer from the codes givé" l.ist"; “29
List—1 . Article
A. Abolition of Titles ; Article 21A
B. Freedom to Managé
Religious Affairs 3, Article 18
C. Protection of .
La"guage of Minorities 4 ArﬁCle 26

D. Right to Education
Codes :

A B c 0D
(a) 3 2 1 4
(b) 4 3 2 1
(c) 2 3 4 1
(d) 3 4 1 2

Which of the following statements regarding the 74th
Amendment to the Constitution of India are correct ?
1. It provides the insertion of a new Schedule to

the Constitution.

2. It restructures the working of the

Municipalities.

3. It provides the reservation of seats for

women in Municipalities.

4. Itis applicable only to some specified States.
Select the correct answer from the codes given below :

Codes :

(a) 1, 2 and 3 are correct
(b) 1, 2 and 4 are correct
(c) 1, 3 and 4 are correct
(d) 2, 3 and 4 are correct

Which of the following is émpowered to make law
for economic and social planning besides the infants

and minors in India ?
(a) Only the Central Government
(b) Only the State Governments
(c) Both the Central and State Go
(d) Only the Local Governments

If “All social-reformers are huma
one of the following Proposition
(a) Some non-humanists are 50
(b) Some social-reformers are
(c) Some humanists are Social

(d) No non-social-reformerg ar

Vernments

Nists” jg true, which
IStrue ?

Cial-
non-

reformers
humanists

“Teformers

e .
P 1a 3 non-humanists

¥ i)

-2-

BESO-19

HIRTEE I 9 G 200°F ® | SEHI 91 Ay
A T F4 Bm 7

(a) 93.3°C (b) 40°C
(c) 99°C (d) 30°C
T~ R - 1D g Fif @ gt S 46
fed M F2 A v 3R =1 =7 Fifr ;
- qH -l
A. ITifEi & fRy 1. 3<% 29

B. uiftiehs Wl & e ) e 2. a=0T 21%
C. JCTHTAH! FI W F WA 3. JITT 18

D. forem #1 srferwn 4. JF<VT 26
H:
A B C D
(a) 3 2 1 4
(b) 4 3 2 1
(2 3 4 1
J(d) 3 4 1 2

W wfaum & 743 Gaive ¥ graey § frsfafag o

YEA-A A 8 & 7

1. I HiuF § U T e e 9 W R |

2. T§ TRATAHIAT 6 RO H GTEEa T 2 |

3. g8 murferRist § mfeematt & fou amewr w5
3TY Al 2 |

4. TR Fad F9 AR =i § @ waisw 2

2 RY T F2 R W I w1 wE i

Fe:

(a) 1,2 3 3w &

(b) 1,2 3k 4wt &

(c) 1,33 4w &

(d) 2, 3 3t 4 Gt &

i 8 Frefafaa @ 4 el Rl s sraaenl & an-
Ty e 3R s demnett & fo fafy-fmfor
&1 wifeal wed § ?

(a) haret HT FHER B

(b) Fae TA THRI i

(c) 3 T T Gl HERT I -

(d) Fae ST THEU B

Zf2 “qf TH-GUIh THEETE 37 F @, d Prefeiea
AT A A PA-T E TR 7

(a) FO mmarﬁm—gm%f

(b) @m-gm K LIECRICIC %

(c) @nmaﬁmm—gm?

(d) HI3 SEHG-FUNH JAHGATETS] T8l g
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10.

11.

12.

Match List ~ | with List — Il and select the correct
answer from the codes given below the lists :
List —|

List—=11
(Subjects) (Related
Articles of Indian
Constitution)
A. To foster respect 1. Article
for international law 51-A (h)

B. To have compassion
for living creatures

C. To develop spirit of
Inquiry and reform

D. To separate judiciary
from the executive in
Public Service of the State

2. Article 51 (c)
3. Article 50

4. Article 51-A (g)

Codes :

A B C D
@1 2 3 a4
b) 2 4 1 3
€04 3 2 1
d3 1 a4 2

Which number will replace the question marks ?

4,10, ?, 82, 244,730
(a) 14

(b) 24
(c) 28

(d) 77

A is the brother of B, B is the brother of C,
Cis the husband of D and E is the father of A, then
DisrelatedtoE as
(a) Daughter

(b) Daughter-in-law
(c) Sister-in-law

(d) Sister

If in a certain code DECEMBER is written as
ERMBCEDE, then which of the following month
would be written for ERMBVENO ?

(a) AUGUST (b) SEPTEMBER
(c) OCTOBER (d) NOVEMBER

In the following series, what would be the value of X ?
1,1,2,3,5,8, X, 21 |
(b) 13

(a) 12
(d) 15

(c) 14

Which of the following was the main theme of
Raisina Dialogue which was held during 14-16
January, 2020 ?

(a) Fluid Partnerships

(b) Multilateralism and multipolarity

(c) Navigating the Alpha Century

(d) None of the above

First Indian woman to win the World Rapid Chess
Championship is
(a) Koneru Humpy

(b) Judit Polger
(¢) Tania Sachdev

(d) None of the above

234

BESO‘IS ,:-:
,llagwﬁm®W%% !éi
6. rﬁﬂ—l@fﬁg@ﬂﬂ .‘E'ﬂ i ]
T e
! (WM%
() e ey
i agMl w2 ;g-‘}gw)
e zznﬂﬁ * 398 51(n)
B. mﬁfﬁiﬂiﬁéﬂ-ﬂiﬁ 3. WSO
“ m*‘ﬁ;ﬁlﬁ 4. 35135 (o)
> fﬁwﬁm
3 o B
EE:A g C IZ
@t 2 2
() 2 4 1
(c) 4 3 2 2
@3 1 4

7.

8.

9.

10.

11,

12

Rl

Frffa § & BA-11 T I R W RS ¢
4, 10, ?, 82, 244, 730
(a) 14
(c) 28

ABHWER BCHWERE CDH
ATy, ADFMESTEUR
(@) ¥ = (b) T &
(c) TR = (d) € =t

uﬁﬁghgﬁaamﬁ DECEMBER % ERMBCEDE feran
STl 8, A Feferfea wg 3 @ fel VENO & &9
7 foran smm - [ -EBMB '

(a) AUGUST
(c) OCTOBER

(b) 24
(d) 77

o & i E,

(b) SEPTEMBER
(d) NOVEMBER ~

1,1,2,3 ;}“‘;“;‘;mmw@mz
(a1 s @ %21

(c) 14 {g; g
mw’ W 14-16 o7, 2020 A T T,
(2) TR ey TR BH-m o ?
(0) ety
(C)ﬁﬁﬁﬁqam
(d)mﬂaﬁﬁﬁ%ﬁ
[SECk
(a)%:ﬁg”ﬁﬁﬁmsﬁa}mmmm%
(<) ey (b) St drem

b (d) 3w # & F T
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14.

15.

16.

17.

18.

-India the total reserve

:ﬁ13. According to ‘Sustainable Development Goal (SDG)

India Index, 2019’ recently released by NITl Aayog,
which State holds the first position ?

(a) Uttar Pradesh (b) Bihar

(c) Jharkhand (d) Kerala

Indian Navy has launched ‘Operation Vanila’ ip
January, 2020, in which of the following countries ?
(a) Srilanka (b) Maldives

(c) Madagascar (d) Oman

Which of the following countries took over the
charge of President of G-20 countries from Japan
in December 2019 ?

(2) Russia (b) China

(c) Saudi Arabia (d) Brazil

Match List — I with List — Il and select the correct
answer from the codes given below the lists :

List—1 List—11
(Power Plant) (Type of Energy)

A. Chamera 1. Atomic power
B. Gwal Pahari 2. Thermal power
C. Kudankulam 3. Hydro power
D. Patratu 4. Solar power
Codes :

A B o D
(@ 1 2 3 4
(b) 2 4 3 1
(c) 4 3 2 1
(d) 3 4 1 2

Given below are two statements, one labelled as
Assertion (A) and the other as Reason (R).
Assertion (A) : According to Geological Survey of

L of all grade coa| in India is
293.50 billion tonnes,

RgaSOT (Rf)é'l:llore thitln half of total proved reserve
of coal of the country is found | =
Jharkhand and Odisha. N two States
Choose the correct answer from t i
Below s he codes given
Codes : (A (R)
(a) Both (A) and (R) are true .
explanation of ()A) and (R) is the correct
(b) Both (A) and (R) are true b ;
explanation of (o) - Ut (R)is not correct
(c) (A)is true but (R) is false
(d) (A) is false but (R) is true

Which one of the followin
second in terms of popy|,
of area (2011 census) ?
(a) Uttar Pradesh

(c) Andhra Pradesh

B States of

: Indi
tion ang thi dia ranks

rd in terms

(b) Magp,
Ya p
(d) Maharash:?adesh

13.

14,

15,

16.

17.

18.

mﬁmmm@ﬁmﬁ'mﬁmamm.@sﬁ)
%W,zolg'%m ~Hl TS 99y v
way ot

(a) I wew (b) fergm

(c) smEws (d) =
ﬁ%ﬁﬁmwﬁmﬂ,zozoﬁmm
A IRIA T Wy [

(a) sfieemt ' (b) wrerdg

() Tz (d) 3mm

(a) &1 (b) <=
(c) 5§ ama (d) swfe
q?ﬁ—lahzgﬁ—nagamﬁﬁrqamma;ﬁ
@ﬁﬁﬁ%"lmwwﬁﬁq:

g -1 e -1

(St wi) (=1 3% wawm)

A. =m0 1. 3R s
B. | ygrE 2. adfig i
C. $HHY 3. Scftw et
D. gatrg 4. €9 Fst
R ,

A B C D
(@) 1 2 3 4
(b) 2 4 3 1
(c) 4 3 2 1
(d 3 4. 1 2
ﬁawﬁqnﬁ,@aﬁwmnﬁz@aﬁm(m
HE TR |

HUA (A) : W spnd Tdeor 3 AR e F i AR
HT HA HSR 293.50 FUT 27 2 |

FOT(R) : ¥ & et & FoA il wew 1 anen A

I Q T - g @ 3if A wrr S R |

T feu ™ Fe A @ I = w7 A

E:(A)aﬂt(mﬁm%aﬂt(m,(mﬁaawm
FAT 8 _

(b) (A) 3 (R) IFi T & 9T (R), (A) it T =rn
qﬁm%% (R) 7T 2
(A) 8 B W (R) Tetd

((8 (A) TeTd 8 9 (R) HE @

Wi 3 Prefiftaa Tt # | PR-w sEen § g A fda
T el B 3R A i TIF (2011 SFIUAT) W R 7
(a) I W (b) weA S

(c) 37 e (d) werrSg
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19. Match List — 1 with List - Il and select the corrgcy

answer from the codes given below the lists ;

List -1 List = 1l
(Tribes) (Location)
A. Jarawas 1. Uttar Pradesh
B. Kukkis 2. Madhya Pradesh
C. Tharus 3. Manipur
D. Gonds 4. Andaman and Nicobar
Codes :
A B C D A
(a) 2 3 1 4 4
(b) 4 3 1 2 4
() 3 4 2 1 3
(d 1 2 3 4 (4 1 i
20. Match List — | with List — Il and select the correct | 20, _1agd ki _ﬂi mﬁ?ﬂ W # }
answer from the codes given below the lists : foy M %2 7 7l I qsh =i '
List -1 List =1l '{Eﬁ"l (W%m
(Biosphere Reserve) (States of India) (G- aetera &) 9. 3w )
A. Nokrek 1. Assam A ARE 2. ¥ .
B. Manas 2. Kerala B. W& 3' e .
C. Similipal 3. Meghalaya c. fufufada ’
D. Agasthyamalai 4, Odisha D. W‘W‘é 4. e
Codes : :
A B C D Ty s € D
(@ 3 4 2 1 a 3 4 2 1
(b) 4 2 3 1 by 4 2 3 1
) 3 1 4 2 ¢ 3 1 4 2
(d 2 3 4 1 d 2 3 4 1

i o e & g ¥ FrafaRad s 8 S-w/A

21. With reference to the urbanization in India, which 21,

of the following statement(s) is/are correct ? @ /3 ? )
1. According to the 2011 census more than 1. 2011 & FTIVAT % AR I F TG IFEGAI
60% of total urban population of the country H 60% q 1 Tom Auft F T § Pem Fd R |

resides in category 1 cities. 2.20118 29 ¥ 10 9@ § 1 SHEE 9 53 TR
2. Therewere 53 urban agglomerationswith million doe 3 |

plus population each in 2011 in the country.

Select the correct answer from the codes given below : A2 fd T2 ¥ TR IW H 944 HIC :

Codes : He
(a) 1only (b) 2only (a) %ﬁra 1 (b) <haa 2
{c) Both1and 2 (d) Neither 1 nor2 (c) 1w 23 (d) AR 1782

22. Which of the following States of India has the | 22. 2011 Srmumy 3 IET Srffad Tl A
highest number of male child (0 -6 years) per 100 q ﬁ'ﬁq % ¥ 100 Wf%ﬁﬁ!aﬁng ? 6 ) FE T
girl child as per 2011 census ? TR B Fe wify 3,
(a) Bihar (b) Punjab (a) faew ib) it
(c) Haryana (d) West Bengal (c) &hamy (d) P

23. Loss of water from the body through perspiration 23. ﬂwﬁjﬁﬁ Hag Q ey (el ) g0 I Al fanit
depends on
(a) Atmospheric temperature only (g) R TR 3% a1 a1
(b) Atmospheric humidity only ((c; R TR ) 0
(c) Both (a) and (b) o (@) 3% (b) 355 e
(d) None of (a) and (b) (@) 3 (b) frey e

c e
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24,

25.

26.

27.

28.

29.

I

Which of the following elements is NOT g3
micronutrient in plants ?
(a) lron

(c) Copper

(b) Manganese
(d) Magnesium

Which of the following statements is NOT correct
about haemoglobind?
(a) Itis red coloure
(b) Itis the carrier of oxygen from lungs to the cells
c) Itis slightly acidic .
((d)) It carries carbon dioxide away from the tissyes
to the lungs

Measurement of glycosylated hemoglobin (HbA1c) |

in the blood is useful for the managep’jent of
(a) Anaemia (b) H?m°ph'|'a
(c) Diabetes mellitus  (d) High blood pressure

Which of the following duties have been prescribed
by the Indian Constitution as Fundamental Duties ?
1. To defend the country
2. To pay income tax
3. To preserve the rich heritage of our
composite culture
4. To safeguard the public property

Select the correct answer using the codes given below :
Codes:

(d) 1and 2

(b) 2and4
(c)1,2and 4

(d) 1,3and 4

Given below are two statements, one labelled as
Assertion (A) and the other as Reason (R):
Assertion (A): The Council of Ministers in India is jointly
accountable before Lok Sabha ang Rajya Sabha.

Reason (R) : Members of hoth Lok Sabha and

Rajya Sabha are eligible tg become Ministers in
Union Government,

Select the correct answer from
Codes :
(a) Both (A) and (R) are trye a

correct explanation of (A) "R} is the
(b) Both (A) and (R) are true byt (R)j

correct explanation of (4 Jis not the
(c) (A)is true but (R) is false
(d) (A)is false but (R) is true

the codes given below :

Arrange the following Cop, it
in chronological order 3y, dse eg
from the codes given beloy, Ctthe
1. Rao Committee )
2. L. M. Singhvi Committe
3. B.R. Mehta Commitgy
4. Ashok Mehta Commigy
Codes : te
(a) 2,3,1,4
(c) 3,4,1,2

son Panchayati Raj

Correct answer

24

25;

26.

27.

28,

29.

BESO~19

i ﬁq%f‘mﬁﬁaﬁq—mmmﬁngmqﬁ%
(@) st (b) #ie ?
m%wuﬁﬁqﬁﬁ :

wh TR : ﬁaﬁq‘mj‘m
(2) 72 =1 1 71 g 2 '
(b)%Wﬁﬁﬁmﬁwmv

(€) T g - AR
(d)ﬁﬁﬁﬁﬁn@mmmﬁq@m%
T Sy

(a) e (b) Emfsern

(c) wyng (d) =2 w9y

"I "@fqum § ¥

Fasdl & ¥ § Pyff fe %?mﬁ%
1. S & & w1 '

2. JEH 3 FE1

3. &l wmfyes

an & 4
2 TR f iEeh s gy

4. FEF W A e e

g.@@RﬁWWmmaﬁm:

(a) 130K 2 (b) 23t 4 v
(c) 1,234 (d) 1,33k 4

ﬁamﬁ,ﬁm‘@;zﬁrwm)m?@iﬁm(n)
HE TR

FUA (A) : Wrd o wft aftee e w9 @ drmaw s
mn,a‘m‘i%n%aggm%u

WU (R) : AHET 3R To9gyT 2H1 % we gy
@R B TR 999 Y g @ # |

He f@ T g F v I H = A

T

(a) (A) 3k (R) 2R v € 3%k (R), (A) R wét e &

(b) (A) 3K (R) 3 wdt & g (R), (A) it &l = -
T 2

(c) (A)®e & g (R) e @

(d) (A) e & Feg (R) & 2

: Pt i ) T
mm%ﬁﬁa@gaaﬂmﬂw
i :

(a) 2,3,1,4
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30.

31

32.

33.

34.

35.

36.

37.

38.

Which Part of the Constitution of India describes the

financial relations between Centre and States ?
(a) PartX (b) PartXI
(c) Part Xl (d) PartXlll

Carpenter A makes 1 chair in 6 hours, Carpenter B
makes 1 chair in 7 hours and Carpenter C makes
1 chairin 8 hours. If each Carpenter works 8 hours per
day, how many chairs will be made in 21 days ?

(a) 64 (b) 69

(c) 73 (d) 78

Fill in the blank using one of the correct options
given below.

BCDF : GHIK : : LMNP :

(a) QRST (b) QRTS

(c) QRSU (d) QRSV

If the Republic Day of India in 1980 fall on Saturday,
' was born on March 3, 1980 and ‘Y’ is 4 days older
to ‘X, then what will be the day of ‘Y’s birth ?

(a) Wednesday (b) Thursday

(c) Friday (d) None of these

Which one of the following number can be placed
at the sign of interrogation (?) ?

51 11 61
64 30 32

35 ? 43
(a) 25 (b) 27
(c) 32 (d) 37

Five years back, the ratio of ages of A and B was
4 - 5. If the present age of A'is 29 years, then the
resent age of B is

a) 31years tb 33 years

(c) 34 years d) 35years

fx=2+ 2% v: 2% ,then the value of x3— 6x2 + 6x s
(a) 2 (b) 1

(c) 4 (d) 3

Two chords AB and CD of a circle intersect at a
point P outside the circle. If ZPAC=50°, then ZPDB

is equal to
(a) 90°

(c) 50°

If the H.C.E. and L.C.M. of two numbers are 21 and
84 respectively and the ratio of numbersis 1:4,then
the larger number in these two numbers will be
(a) 108 (b) 84

(c) 48 (d) 36

(b) 130°
(d) None of the above

C

g,

j@%@f

30.

31

32.

33.

34.

35.

36.

37.

38.

o 375 3T T 35

ﬁﬁuﬂﬂ@q’?ﬁ“% g i
mﬁﬂﬂ'ﬂﬁrﬁmg@ﬁ (b) ¥ 1 _

m'w (d) ¥ 13

(c) w12 el 2, B 7 7 oy
A 958 6ﬂ"a ﬁgcga; 8M&@Wm:
@;gqﬁaﬂm‘% ¥ ga@mm%,‘@lzlmQﬁ
Uﬁﬂ’rﬁ‘“ﬁ‘é o 7

P ) 69

(a) 64 (d) 78.

(C)73'ﬂa ag@g’@ﬁmwmm
o o ® L

BCDF: GHIK LMN (b) QRTS

(a) QRST (d) QRSV

(c) QRSV .

Yo o o fee@ A # gea
aﬁlllggo ;qmqﬁ, 1980 ﬁ ﬁ'ﬂ'l %‘,"’Y” IX’ a .
OGBS T LR
(&) 35 (@) o 8
(c) FFT
o oo @ A FE T (7) % @m w
B =nfee ?

c1 | 11 | 61
REEER Jé%ﬁ
35 | 2 | 43 .
(a) 25 (b) 27
(c) 32 (d) 37

5ad g A 3l B ¥ 3 H1 AW 4:5 U AW AH
T 1Y 299 2, B ad A 3T

(a) 31 a4 " (b) 33 ¥

(c) 34 =¢ §2§ 333,4

?ﬁ)"‘;“ 2%+2% ?(,ﬁtx3—6x2+6x$lqﬂ’@‘"
a

(c) 4 o

LR E S C pemap— L
§“‘ﬁ4PAC=50é,a}4pDBq:{mg A

(a) 90° o
o b) 130°
(c) 50 td; o H A aﬁ’?ﬂ’é’f

R QA Hemstt w1, i ... A 2 O

aaﬁ;}??ﬁ?" I 1;4%,3134@@3“.
(a)108 »
(c) 48 (b) 82
(d) 3
IiQ
2
gy
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41.

42.

’ State of India ranked top in the Good

"Governance Index among big States group in the

country in the year 2019 ?
(a) Kerala (b
(c) Maharashtra (d

Tamil Nadu
Andhra Pradesh

Why the indirect taxes are termed regressive taxing
mechanism ? .
(a) They are charged at higher rate than direct taxes
(b) They are charged the same rates for allincome
groups
(c) They are not charged the same for all income
groups
(d) None of these

India aims to achieve the 5 trillion dollar economy
target by

(a) 2022 A. D.
(c) 2025 A. D.

(b) 2024 A.D.
(d) 2026 A. D.

Which one of the following statements about Fifteenth

Finance Commission is NOT correct ?

(a) Fifteenth Finance Commission was appointed by
the Government of India in November 27, 2017

(b) Sri N. K. Singh is its Chairman

(c) The recommendations of the commission will
cover the five year period 2020-25

(d) The commission has been asked to submit its
report by October 30, 2020

43. Arrange the name of the following Pallava rulers
according to their reign in correct chronological order
and select the correct answer from the codes given
below :

1. Parmeshvaravarman |

2. Narsinghvarman |

3. Nandivarman |l

4. Mahendravarman |

Codes :

(a) 4,2,1,3 (b) 4,3,1,2
(c) 1,3,2,4 (d) 3,2,1,4

44. Match List -1 with List — Il and select the correct

answer from the codes given below the [ists
List -1 List — 11
(Kings) (Queens)
A. Chandragupta 1. Duttadevi
B. Samudragupta 2. Kubernaga
C. Chandraguptall 3. Kumaradevi
D. Kumarguptal 4. Anantdevi
Codes :
A B C D
(@) 3 1 2 4
(b) 2 1 3 4
(¢ 1 2 3 g4
(d) 4 3 2 1
C
=

39,

40.

41.

42,

43,

44.

BESO —-19

& F =3 T F Wy i wwa % feg s X 9§ 2019F
e a1 v T e .
(a) = (b) ey
(c) wgrsz (d) 3w wem
ent R aferm R SR w6 e o R 7
(a) A wae U 6 gor & 3w o o e
(b) A Tt 3173 TR T @ W ey ¥
(c) B et 3 gl T T TE T Sy §
(d) 3 & =3 7
@ 5 feferm sren &t ardeaaen & weg =) w59 a5
TS AT =TT & 7 s+ ¢+ oz =0
(a) 20225%. (b) 2024%.
(c) 2025%. (d) 20263%.
frfafaa # & ®F-T1 w9 15 Ra omim ¥ gy
Aadt 7@ 2 ?
(a) ¥R TR T T5Ea e S =51 e
27 99, 2017 Y foran
(b) o @. . férg 3o areme ¥
(c) 3T H AN 2020-25 F [ T6 i aEfy F
for 2rft

(d) 3T = 30 =R, 2020 qH ST W
F % forg wa T R -

=it voea et @1 T 3% T 9 g
TEd BT T FIATHAER saafera fif ot R 3

T F2 A W IW A T R

1. TS |

2. TfegadA |

3. af=ad=7 1

4, TR=gana
e

(a) 4,2,1,3 (b) 4,3,1,2
(c) 1,3,2,4 (d) 3,2,1,4
Tl - | g - 11 i i T gheE & AN
f M F2 A wd W w9\ A
-1 -1l
(YTTE) (wfan)
A, FIM 1. ATt
B. W 2. HEEm
C. == ffa 3. AT
D. FHUTC TR 4, FF=aca
= .
A B o ‘D

(a) 3 1 2 4

b) 2 1 3 4

(c) 1 2 3 4

(d) 4 3 2 1
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45.

46.

47.

48.

Which of the following is NOT correctly matched ?

(Newspaper) (Founder)
I-Hil — Maulana Abul
(a) AR Kalam Azad
(b) New India — Annie Besant

(c) Tahzeeb-ul-Akhlag = Muhammad Ali Jinnah
(d) Samvad Kaumudi = Raja Ram Mohan Roy

h List — | with List =1l and select the correct

Matc .
des given below the lists :

answer from the co
List =1 List=11
A. Taj-ul-Masir 1. Ziauddin Barani
B. Khazain-ul-Futuh 2. Hasan Nizami
C. Tarikh-e- 3. Amir Khusro
Mubarakashahi
D. Fatwa-a-Jahandari 4. Yahia bin Ahmad
Sarhindi
Codes :
A B C D
(a) 2 3 4 1
(b) 2 4 1 3
() 2 1 4 3
(d) 1 3 4 2

Match List — | with List = Il and select the correct
answer from the codes given below the lists :

List -1 List=1l
A. Andrew Frazer 1. Famine Commission
B. Antony MacDonell 2. Irrigation
Commission

C. Colin Scott Moncrieff 3. Police Commission
D. Thomas Robertson 4. Railway Commission
Codes :

A B (o D
(a) 3 1 2 4
(b) 3 2 1 4
() 1 3 2 4
(d 1 3 4 2

Given below are two statements, one labelled as

Assertion (A) and the other as Reason (R).

Assertion (A) : The Arya Samaj Movement gave

self-confidence and self-reliance to the Hindus.

Reason (R): The Arya Samaj Movement undermined

the belief in superiority of White Race.

Choose the correct answer from the codes given

below :

Codes :

(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)

(b) Both (A) and (R) are true but (R) is not the
correct explanation of (A)

(c) (A) !s true but (R) is false

(d) (A)is false but (R) is true

-9-

———————

ES(;)\19
ﬁ@""iﬂ (EeuTTs
a5, Preferfiad - rﬁam)
) e
(e et FMT S
(a) 3 g this
by AL o 1 T
(d) giﬁzllagaﬁﬁ;ﬁﬁﬂ q\iﬁ%ﬂ%ﬁa
a6, A ~1F 7 5
‘Eﬁﬁ’l 1 ﬁmﬁam
p, T T > ;ﬁm
| g3 - TR g
¢ m@ugﬁr@ o
D. ma'l—Q' mﬂ'{%a
: D
w8 2 1
@2 o 1 3
® 2 | 4 3
@ 2 3 4 2
(d) 1
47. @—lﬁzﬁﬂ»uﬁgﬁﬁ‘a <hifore aen 9 o m e
3w 3 H A
T - 1 a%ﬁré}%n
. W .o‘ h
/g. ﬁm 2. fo=g amm
C. e e AHIS 3. fer amm
D. m-ﬂa’é{{q . : 4, }a%m
%Re:
A B C€° D
(a) 3 d 2 4
® 3 2 1 4
© 1 3 2 4
@ 1 3 4 2
48. ﬁﬁw&ﬁrﬁﬁ’@ﬁm(;\)m@iﬁm(m

0 e

A) : 3T HuT Y et & aven-fora@

;Tmﬁ‘:;‘z"‘rym%ml e :
: mmammﬁm

mﬁqﬁﬁﬂsﬁtﬁ)‘ml

Fe . ﬁwaﬁmwwﬁﬁm:

w

(: ;ﬁgﬁ‘“‘)ﬁ W § 3 (R), (A) 1 FE T
(A . i
%i‘%gﬁwzm(m,wﬁﬁ

(c) (A) wg
(d) (a) ngﬂfg §
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50.

51.

52.

53.

5 With reference to Lala Lajpat Rai which of the

following Statements is/are correct ?

1. At first he was not in favour of the policy of
Non-cooperation but later he joined in favour
with Gandhi.

2. Lala Lajpat Rai also participated in the
formation of Swaraj Party.

Select the correct answer from the codes given below
Codes ;

(a) 1only

(b) 2 only

(c) Both1and 2

(d) Neither 1 nor 2

Consider the annexation of the following States
under ‘Doctrine of Lapse’ and arrange them into
chronological order :
1. Satara 2. Jhansi
3. Baghat 4. Udaipur
Select the correct answer from the codes given below :
Codes : '
(@) 1,4,3,2 (b) 3,1
(€) 1,3,4,2 (d) 2,4,1,

Which of the following organisations approves the Fair

and Remunerative Price (F.R.P) of the sugar cane ?

(a) Cabinet Committee on Economic Affairs

(b) Commission for Agricultural Costs and Prices

(c) Directorate of Marketing and Inspection,
Ministry of Agriculture

(d) Agricultural Produce Market Committee

Given below are two statements, one labelled as
Assertion (A) and the other as Reason (R).
Assertion (A) : Sunflower ol js rateq as a good
quality of edible oil,
Reason (R) : It contaijns
unsaturated fatty acids,
Select the correct answer from,
Codes :

a) Both (A) and (R) are try X
( correct explanation of (:)and (R) is the

b) Both (A) and (R) are ¢ _
ol correct explanation Ofu: but (R) is not the
(c) (A)is true but (R) is false

(d) (A)is false but (R) is true

high quantities of

the codes given below :

The Policy Repo Rate ang Re,

announced by Reserve Bank of ndierse Repo Rate

2019 were respectively 30n December 5,

(a) 6% and 5.75% ) 5
_(0) 5.15% and 4.9% (g 5:-‘;2;’: T 15%
. ?and 5,59%

-10-

|

49.  wren wE T % wel P i )

50.

51.

52.

53.

HH-T1/D B T R/ 2

1.mﬁﬁmhﬁfa%qaﬁq—gfa,
FAnd S owdAm R

z.mm%mﬁmmmmwm@|

EERECRCE ARGl e ER :

% :

(a) shae 1

(b) %aet 2

(c) 13 23=i

(d)ad@r1ad2

ﬁauwﬁam’%m%rmﬁ%hm“

ﬁ?ﬂﬁﬁqaﬁrﬁmm@aw

1. gam 2. #ig

3, §uR 4. IR

ﬁﬁﬁwﬁ:@%a@mwwﬁm;

E T

(a) 1' 41 3’ 2

(b) 3,1,2,4
(c) 1,3,4,2

(d) 2,4,1,3

nﬁ%ﬁaaﬁxw&%w(mn)ﬁwﬁ#&aﬁﬁ
-8 WS Sgifed wear 2 7

(a) 3N wmedt it Hfre w3

(b) F T 3R g1 a1
(c)ﬁqmmﬁﬁmﬁ%sm,wm

(d) $¥ 371 0t wffy

ﬁamﬁ&nﬂﬁ,ﬁﬁqmﬁwm)m@
%1 HR (R) g1 TR |

T (A) : T o U e IO @ o |
HROT (R) : 3807 0~ 91 37wl ) e Tran wrht
Bl k] '

R 3 ™ 2 @ 9 IW w1 571 Afve

E(:A)@I(R)aﬁm% 3N (R), (A) ! wE ==
w2

(b) (A) 3 (R) 31 wew & TG (R), (A) Ft et =amE
T Fa @

(c) (A) & 2 7g (R) Terd @

(d) (A)TeTd & R (R) T 2

s ford &% g 5 ey, 2019 H aifva i 1@

= aw fad W g e o .

(a) 6% Td 5.75% (b) 5.40%@75.154

() 5.15% W 4.9% (d) 5.75% @@ 5.5%
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55.

56.

57.

58.

59.

60.

54.

Consider the following statements with respect
to Consumer Price Index and select the correct
answer from the codes given below

1. It computes price changes in both goods and
services.

2. Itis computed by the Office of Economic
Advisor (OEA), Department of Industrial Policy
and Promotion.

3. It is taken as the measure of inflation while
formulating Monetary Policy by RBI.

Codes :
(a) 1and 2 (b) 2and3
(c) 1and3 (d) Only1

The biggest centre of software and Business
Process Outsourcing Industries is established in
U.P. at which of the following cities ?

(a) Meerut (b) Kanpur

(c) Varanasi (d) Noida

In which of the following regions of U.P., Anna
Pratha is curse for its agriculture and forestry
development ?

(a) East U.P.

(b) Bundelkhand region of U.P.

(c) Central U.P.

(d) Western U.P.

Which of the following is NOT correctly matched ?

(District) (Popular Product)
(a) Kannauj —  Perfume
(b) Buland Shahar —  Ceramic
(c) Chitrakoot — Wooden toys
(d) Pratapgarh —  Guava Jelly

Agariya, Baiga and Bhuiya scheduled tribes are
mainly inhabitants in which of following districts
of Uttar Pradesh ?
(a) Ambedkar Nagar
(c) Sonbhadra

(b) Jalaun
(d) Lalitpur

Which of the following is phosphatic bio-fertilizer ?
(a) Rhizobium

(b) Blue green algae

(c) Azolla

(d) Vascular Arbuscular Mycorrhiza

Which one of the following pairs is NOT correctly
matched ?

(Singer) (Style of singing)
(a) Rajan-Sajan Mishra - Dhrupad-Tappa
(b) Taz Begum —  Thumari-Tappa
(c) Badi Maina —  Thumari-Tappa
(d) Ambaji Chaturvedi - Dhrupad

54,

55,

56.

57.

58.

59.

60.

Sotacs o P

BESQ < :
19 ﬁ;‘
o # PR |
. W |
v 17 ??fr': , ARENA _;R;qvm ﬁﬁm
S aom iR &2 < 3 g |
? ;ll;n’ﬂﬂ o fm:f (A 1 HTATER (OEA)% |
2. gy T CRIUEAURE T . %'1

o AT
e A A0 i 73 s
3, e o o mq«g@ﬁ;miﬂ?n? l

tm\r'l‘l”n’”_’ﬁ
Tz (b) 233
(a) 132 (d) FIa1
(c) 1f13 T3z tET I
Wﬂwﬁmmﬂé-mméém
Fg3 T © (b) FAL
((a;irra (d) e

C
gﬁﬁzmﬁ@a;w%%w&mz?
(a) &t 3%
(b) 3.9. H &
(c)qwlg.
(d) wfgerdt 37
m@aﬁﬁaﬁﬂ—mﬁ@%ﬁqﬁ%?

(a) A =" 3

(b) T, T -, = B

(c) Ferrgz. - wd & el
(d) waTe —  3wEg et

i, ST qU 45 mg@amrﬁﬁmm%
frffiaa el 3 3 Freit qea: Fam Fd e 2

(a) 3PEEHR TR (b) ST

(c) T (d) AW

frafefiaa § § BR-m1 ek J9-T@ & 7

(a) TEfeRm e

(b) Tt &fta Faret
(c) T
(d) FeFr aregepeR meRE
Freatirfe i % & o wd gt T 2 7
(e (v et /faen )
(a) TR-wrm fiyr . g
(b) WA~y X e
(©) w ty - -
(d) mmﬁa@aa - g:rg
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;tch List — | with List — Il and select the correct
™" answer from the codes given below the lists :
List - | List — 11
(Name of Authors) (Pen Names)
A. Suryakant Tripathi 1. MunshiPrem Chand
B. Raghupati Sahay 2. Nagarjuna
C. Vaidyanath Mishra 3. Nirala
D. Dhanpat Rai 4. Firaq Gorakhpuri

. ‘ Srivastava

Codes :

] A B C D

. (@& 3 4 1 2

7 b 3 2 1 4
(c) 3 4 2 1
(d) 3 2 4 1

62.  With reference to Swachh Bharat Mission, which
of the following statement/s is/are correct ?

1. Swachh Bharat Mission focuses on the
collective behavioural change of the entire
community,

2. Open defecation for many is a part of regular
early morning walk, checking the crops and
socializing.

Select the correct answer from the codes given below :

Codes :
(a) Only 1
(c) Both1and?2

(b) Only2
(d) Neither 1 nor 2

63. According to the report released by Green Peace

India in January, 2020, amongst 287 Indian cities,
which of the following is the most polluted city ?
(a) Raniganj (b) Jharia
(c) Bajrang Nagar (d) Sohagpur
64. Which of the following statement/sis/are true about
the three day International Seminar on ‘Climate
Smart Farming System’ for BIMSTEC countries held
during December 11-13,2019 7
1. Itwas held at Katmangy, Nepal.

2. It was aimed to have ey
more resilience to clim
ecological approach to
of tropical small holdin

Select the correct answer frg

Codes :
(a) Only 1
(c) Both 1and 2

perience sharing for
ate change through
enable improvement
€ farming systems.

M the codes given below :

(b) only

-12-

61.

62.

63.

64.

BESO - 19
@qﬁ@-ll%ﬁﬁ%ﬁtﬁﬁqﬁ&r@ﬁ%#ﬁﬁ&
T e A qE I B wE By ;

Tt - | Tt - 1|
(grecabon )] (3T=m)
A. = v 1. -gf Y
B. Tqufv @wgm. 2. AT
C. %Fm fan L 3. fgen
D. uwd A Hferaa 4, T v
T2
A B G D
(a) 3 4 1 2
(b) 3 2 1 4
(c) 3 4 2 1
(d) 3 2 4 1

Wmm%mﬁﬁ%ﬁﬁaﬁq-m/a
YT A /R 7

1.@?@%%@@%%%
qREdH W ka2 |

2. ﬁmwﬁ%mgﬁﬁmm,mm
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R

(a) Saet (b) ¥aet 2

(c) 13k 22mi (d) 3@ 198 2

1 fa 3fem grr s, 20204 St ol % arEn
A < 287 7} § A Prafefed § § w9-ar gaifs
Tfa IR 7

(a) T (b) wsifn

(c) =T Am (d) HrerTR

fergeer St 26 fore “sretamy wé et someft A w 11-13

feamar, 2019 %1 gro= gt i Reaei st Gt 3

wrary 1§ Fefefed w8 @ F-m/a a@ 23 o

1. 9§ HTeHIUg, AT A A g4 oft |

2. THH G4 I UIRFeafodhr gfeson @ sremamy
qitadd & |1y 31 wfterm & fiyg gw
FHieeHf TR a U FN yomeh § gur
B ITMEl I AT FET o |

Hi fed T gz @ wE IW F =T Hfi
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(a) et

(c) 1 3f 2 M

(b) %ae 2
(d) T 178 2
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66.

67.

68.

ey

Match List = | with List — Il and select the correct
answer from the codes given below the lists :

List—1 List =l
(Cities) (Rivers)
A. Paris 1. Paraguay
B. Kinshasa 2. Chao Phraya
C. Bangkok 3. Zaire (Cango)
D. Asuncion 4. Seine
Codes :
A B C D
(a) 4 1 2 3
(b) 3 4 1 2
() 4 3 2 1
(d 1 2 3 4

Which one of the following presents the correct North-
South sequence of the four major Islands of Japan ?
(a) Shikoku, Kyushu, Hokkaido, Honshu

(b) Honshu, Hokkaido, Shikoku, Kyushu

(c) Hokkaido, Honshu, Kyushu, Shikoku

(d) Hokkaido, Honshu, Shikoku, Kyushu

Given below are two statements, one is labelled as
Assertion (A) and the other as Reason (R). Choose
the correct answer from the codes given below :
Assertion (A) : Most of the hot deserts of the world
are located on the Western margins of continents
between 15° — 30° North and South latitudes.
Reason (R) : Trade winds lose their moisture and
humidity as it move westward.
Codes :
(a) Both (A) and (R) are true and (R) is the correct
explanation of (A)
(b) Both (A) and (R) are true
correct explanation of (A)
(c) (A)is true but (R) is false
(d) (A)is false but (R) is true

Match List — | with List = Il and select the correct
answer from the codes given below the lists :

but (R) is not the

List—1 List=1l
(Projects) (Rivers)

A. Ukai 1. Godavari
B. Jayakawadi 2. Ambi
C. Khadakwasla 3. Mutha
D. Maurakshi 4. Tapi
Codes :

A B C D
(a) 4 1 2 3
(b) 4 1 3 2
() 1 3 4 2
(d) 3 4 2 1

65,

66.

67.

68. It
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70.

71,

72,

73.

74.

75.

With reference t0 Gcr;rect
" statement/s Is/are ¢80 i1 sakellaropoulou as

"(a) 80 metres

ece, which of the following

1. Greece electe K?tert in the Country’s history.
first woman Pregﬂden ident who does not
2. Katerina is the first Prle:,arty.

litica .
Selecsthe et erfom the codes gven below

Codes : b) Only 2

Onl ( .
Eg)) Bgtx } and 2 (d) Neither 1nor2

Match List — | with List - Il and select the correct
answer from the codes given below the lists :
List-1 List -.II
(Coal field) (Location)

A. Makum 1. Assam

B. Namchik 2. Arunachal Pradesh
C. Girdih 3. Jharkhand

D. Sohagpur 4, Madhya Pradesh

Codes :

(a)
(b)
(c)
(d)

Two trains were running in the same direction at
90 km per hour and 70 km per hour respectively. The
faster train passed aman standingin the slower train in
18 seconds. The length of the faster train is
(b) 100 metres
(d) 150 metres

By selling an article at % of selling price, a trader
incurred a loss of 10%. The profit/loss percentage,
when it is sold at original selling price is

(a) 20% loss (b) 120% profit

(c) 32.5% loss (d) 20% profit

If compound interest ¥ 420 s
perannum on a principal j
is the principal amount 7

(a) ¥ 5,000 (b) % 6,000
(c) ¥ 7,000 (d) T 8:000

Forthe Financial Year 2019-20¢t

aims to restrict the fisca| deficit ap

(a) 3.3 percent of GDp (b) 3.0 per f

(c) 3.5 percent of GDp (d) 3.9 per(c:::: ngg:
ich of the followi i

e Suﬂ;?ﬁaitfggm?nn thelist of top five

2019-20in India ? OPment Goals Index

(a GUjal’at b)
(c) Andhra Pradesh d)

NP R e
= b NN
wWwwhwaeaA
&N WRED

(c) 120 metres

gained at rate of 5%
N second year, then what

he Union Government

Hir“?Chal Pradesh
Tamil Nady

| ESS—

69.

70.

71.

72.

73.

74.

75.

“(a) 80X

BESO-19

ma;mﬁﬁﬁm%f@ﬁmi‘rﬁﬁﬂq-m/éua%/éj
1. i 3 S Grherrie] Ft 2 % shrar 3w
wfgen wezafa AR |

2. et weeht weafd €, SRR oo gy g

grafia T8 R | e
1 fad 73 2 F T IW F =97 Fifvrg
%e:
(a) Faa (b) e 2
(c) 13 23 (d) Fa@ 178 2

— 1%t gt - 118 gafea i o gfmi % 6
g@@éu@mmwgﬁq:

et - | |

(e &) (srafeufa)
A, THH 1. 38
B. Ay, 2. IS WeH
C. findis, 3. yrEvg
D.m-l Qmm
H]e:

A B C D

(@) 1 2 3 4
(b) 1 2 4 3
() 1 4 3 2
(d) 2 1 3 4
Q Wwmieal @ R & 90 feft iy \Gi

. & qUgI
70 fof iy wvar B afy & w@ @ o ¥ 9 T
WG 3 i 7l areht o § @ e st
18 T F R forn @) A1 el e Yo 4 o 2
(b) 100X
(c) 120 Hrex (d) 150 e

et g ) Rl Ter & 3, o o R ) 10%
7 g AR 3 et e e e e, A emi/eR
1 wfavd g

(a) 20% w1fy (b) 120% @™

(c) 32.5% g1f (d) 20% =™

R A W 5% ¥ Al B w gw A # T 420
Thefe = fiera R, d e fra @ 7

(a) ¥5,000 (b) 6,000

(c) ¥ 7,000 (d) ¥ 8,000

fam 9 2019-20 ¥ R ¥z g@Er I ToET TR R
foram sfowa o @ @ FT A @ 2 2

(a) HAR. = 339Rwm@ (b) .. A, % 3.0RW
(c) ShAq. = 3.59fwm (d) st.A.A. w1 3.0 ¥

frafafga § & 9-w1 Ty w6 yrofig e ad
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77.

79.
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i . o faEm
76. Consider the following Credit Rating Agencies e il % L) R
i pleencesand | 56 43y m BRE L At
arrange them in chronological order : t spafedd
1. CARE HIAHTEN
2. ICRA 1. C/?:Xf
3. CRISIL 2. 1C ;
: 3. CRISIL o 3BT i .
Select the correct answer from the codes given below : 1 g F a
Codes : ¥ (b) 3,1,2
(@) 3,2,1 (b) 3,1,2 (a) 3,2,1 (d) 1,3,2
(¢) 1,2,3 (d) 1,3,2 (123 AR
Yehl <hl
The recent amalgamation of public sector banksin | 77. g i g aaz?@ T
India is aimed at multiple gains. 1 3 @ AEd
1. Economies of scale 1. 4 A ﬁ-a%vrﬁﬁj
2. Improved access to capital 2. ¢ @ AT ng?rcﬁ
3. Covering larger geographical areas 3. =T Qia; gﬁia“"[
4. Banks of global size 4. fagg walg R -
Eo
Select the correct benefits using the codes given below : ) Ry T R it AL 7 Hifvg
Codes : xe:
b) ae 23 3
(a) 1and 2 only (b) 2and 3 only (a) et 1300 2 Ed; 1.3 %S bk
(c) 1,2 and 4 only (d) 1,2,3and4all (c) ¥me 1,2 30 4 ﬁam Ha
; TYH T ?
78. The Shatasahasri-Sambhitais the nickname of which | 78. m-{?ﬁ 3‘1’”"' Wﬁgﬁ e T
of the following texts ? - . (a) F¥E (b) 3reEa]
(a) Rigveda tharvaveda d) TENRE
(c) Ramayana (d) Mahabharata (c) T (d) ‘o
In which of the following metals the Karddamaka | 79. dne &l ;mﬁﬁﬁ{ﬁid’? o @ fFa ug [k
Kshatrapas issued the very rare coins ? o wafera 7 i
(a) Copper (b) Silver (a)v:gq (d !
(c) Potin (d) Gold (c) (d) 3
-1 g - 11} gaf i X!
80. Match List — I with List — Il and select the correct | 80 g?@lﬁ %a;all% : W il
answer from the codes given below the lists : R I H T AT :
List =1 List—1l K et -1 g -l
(Philosophy) (Methods to achie (&) (Fer T 0 & )
sal_vgpon) A. =T T y il
A. Nyaya Darshan 1. Acquisition of . gredfa®
real knowledge . . 1w
B. Mimamsa Darshan 2. Knowledge of self . Wi gy P
C. Sankhya Darshan 3. Performing C. HI&a i 3. Afew JTBH F
i vedic rituals D. T ¥y p o
D. Vedanta Darshan- 4. Logical thmklng 2 . s 4
Codes : ‘ A B
C
A B C D @ 2 a ; |3)
(@) 2 4 1 3 p (b) 4 % :
(b) 4 3 1 2 (0 1 3 : 2
- d 3 4 1 2 . ; 1 5 &
81. Which of the following two rulers fousl']?t the ’ m’hri "Ia";gaqmﬁ o TR % we 17 qgf 1540
battle near Kannauj on 17th May, 1540 i (a) i 3 ESIT ? v
(a) Humayun and Sultan Mohammad NU (b) Q;Fﬁl’f Tigrre Terh
(b) Shershah and Humayun (c] e o %;fr{
(c) Shershah and Mirza Kamran (d) wm m:{
(d) Mohammad Shah and Humayun R T P
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83.

84.

85.

86.

87.

88.

89.

‘2 Which of the follow

ing was the major cause to
withdraw the non-cooperation movement in 1923
('25 rmm 1I?eaﬂeadel’ 5
(o) ErReimeed ol e SEPL LGS pary
(d) ﬂ\%vgtgi?itchaura violence

gwas NOT associated with

were arrested and were

Who among the followin
Ghadar Party ?

(a) Lala Hardayal

(c) Barkatullah

Which of the following is NOT correctly matched ?

(b) Pt. Ramchandra
(d) Khudiram Bose

(Revolts) (Years)
(a) Neel Rebellion 1859 - 60
(b) Jaintiya Rebellion 1860 -63
(c) KukiRebellion 1860 -90
(d) Kuka Revolt 183234

Who among the following leaders said, “I am an
Indian Tom-Tom, whose work is waking up all the
sleepers so that they may wake and work for their
motherland” ? ' S

(a) Bal Gangadhar Tilak

(b) Mahatma Gandhi

(c) Sarojini Naidu

(d) Annie Besant

Which of the following nutrient is necessary for
‘Nodule Formation’ in legumes ?

(a) Nitrogen (b) Silicon

(c) Boron (d) None of the above

How much amount of urea will be required for
supplying 1 kg of nitrogen ?

(a) 2.0kg (b) 2.2 kg

(c) 2.5kg (d) 2.7kg

Following are the statements regarding the Usar soil :
1. Itis reclaimed by adding lime,

2. This soil has pH more than seven,

3. Paddy crop can be grown in this soil.
Select the correct answer from ¢
Codes :

(a) 1 and 2 are correct
(c) only 3 is correct

he codes given below :

(b) 2and 3 are correct
(d) only 1 s correct

According to Fortune Ingja ¢ i

: : t
Corporations, the biggest COmpgt\S?g Comptain|e§/
2019 was | Y/Corporationin
(a) Indian QOil Corporatig,
(b) Oil and Natural G COrLr:?r;i :
(c) Reliance Industrieg Ltd ssion
(d) State Bank of Indj;
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(a)m%ﬁmﬂmmrﬁqe}aﬂ(ﬁaﬁa
(b)ﬁﬁamﬁ?ﬁﬂﬁm%fmm-@@ﬁ
(c)ﬁmzﬁmﬁﬁgmﬁm
(d) SH-<h # g Fien i
T 0 d A Frfafa 3 @ B wafag T
(a) @ gEE (b) 9. T
(c) TEa-IeatTg (d) Grm @
frfafaa 4 @ - gk =6 2 -

(Fsz) (ad)
(a) H= fodz 1859 - 6
(b) srafrn fogig 1860 - 63
(c) T fagie 1860 - 90
(d) &= fgie 1832-34
Ferfrfiaa Fanatt 3 @ et w1 8 A v g

e 1 |91 7T & T R s Y s %
wﬁaﬁtmga%? TS
(a) o161 TR T

(b) weTeRT Tith

(c) wfsr Tmag

(d) oht s

frafafea § @ -1 Qvs o= o woel § i
T & foe s R 7

(a) ATEgH (b) Rifersia

(c) ¥/ (d) IR A A 9 78

1 foreitom oo 1 el % e e i 9
1 ravEHdr gt ? ,

(a) 2.0 fFm (b) 2.2 fm
(c) 2.5 formm (d) 2.7 fFm
frefafgs SR s i Fa=w d 8

. WaNT T T/ GUNE 7 FH R |
;, :gf?%ﬁ pHmﬂ%’%m@m%l
3. 30 gt of ur R wE I w2

= fod ™ g2 @ wd Iw T = A

Siswemat (o) 2oh3wnd

(c) a3 7E & (d) e 18 R

wredd $fem & 500 wrafr /i it gt & AR
2019 & we@ a¢ Heoft/frm oft
(a)@wmmnm
(b)%agawm%am
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92.

93.

94.

95.

The first floating solar power plantin
Uttar Pradesh is built on which of the following dams ?

(a) Matatila Dam
(c) Dhanraul Dam

(b) Rajghat Dam
(d) Rihand Dam

In which of the following cities of U.P., the Indian
Institute of Pulses Research is situated ?

(a) Lucknow (b) Varanasi

(c) Kanpur (d) Meerut

Which one of the following districts of Uttar Pradesh
is leading producer of orange ?

(a) Farukhabad (b) Lakhimpur

(¢) Saharanpur (d) Balrampur

Match List — | with List — Il and select the correct
answer from the codes given below the lists :

List—1 List =1
(Institute) (Location)
A. V. V. Giri National Labour 1. Varanasi
Institute
8. Indian Institute of 2. Mathura
Vegetable Research
C. Pandit Deen Dayal 3. Ghazipur
Upadhyaya Pasu Chikitsa
Vishwavidyalaya

D. Regional Rail Training Institute 4. Noida
Codes :

A B C D
@ 1 2 3 4
) 4 3 2 1
(c) 4 1 2 3
(d) 2 4 3 1

Consider the following statements which are in
regards to Uttar Pradesh :
1. Itis largest milk producer State in the country.
2. Maximum potato is cultivated in it in the country.
3. It is major producer of sugar cane in the
country.
4. It has third position in paddy production in the
country.
Select the correct answer from the codes given below :
Codes :
(a) 1,2and 4
(c) 2,3and 4

(b) 1,2and3
(d) 1and 2 only

‘Bible Book’ of North Indian classical musicis related to
(a) Natyashastra

(b) Sursagar

(c) Nad-Vinad

(d) Sufinama
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95.

. (a), Hranfen @

BESQ .,

aﬁﬁﬁmmﬁﬂﬁq

(b) mfﬁq
(d) f@&= am

?ﬁﬁaﬁmﬁww

syman?

(c) wder @Y

IW T2 B 7
WWWW? (b) @
c .
m::ja;mmﬁﬂaﬂﬂ-mﬁwmmm
JTEH & 7 (b) AR )
aTr
_ _ 1@ g AT S e 3 4y

g@'g?ﬁmﬂ < T

Tt -

(erear) ,
A, &, fiRTEE mEET LS
B. g Goft SEUA BRI 2. YU
C. 4. oF g ST T S | ~3. TR
D. o te SR EER 4. A

%e:

- -

TR -1l
(rafeufy)

(a)
(b)
(c)
(d)

I 5 F W Feaiifen et w faw Hif :

[ N N

W N o
W NN WA
P, W, A~ O

4

’ lwaﬂﬁmﬁﬁ?ﬁ?ﬂmm%'

2. ¥ 30 e ey A o AR |
3. T8 WG T e T R |

A, 9T % I 8 304 g e e 1
o R 8 8 5
(a) 1,234

(c) 2,334 (b) 1,23M3

(d) e 132
It Wy . !

(o) ey g T e A
(b) grEmR

(¢) Te-Rrrg

(d) Thrmm
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98.

99.

t
6. Following are two St

atements, one is labelled as
er as Reason (R) :

Assertion (A) and omuchability is worst form of

Assertion (A) : Unto
structural violence. "
Reason (R) : Untouc

" tions.
ligious sanc
gzaen's]iad:f tolzereagove statements and select the

correct answer from the codes given below :

C : .
(at;d;;th (A) and (R) are true and (R) is correct

tion of (A) )
(b) g)c();t,:ma?:) :nd (R) are true but (R) is not the
correct explanation of (A)
(c) (A)is true but (R) is false
(d) (A) is false but (R) is true

bility has been practiced in

Following are two statements, one is labelled as
Assertion (A) and other as Reason (R) :

Assertion (A) : Rural population does not consider
open defecation as a threat to their well being,

Reason (R) : Socio-cultural norms about purity and

pollution prevented people from having toilets at
the home.

Consider the above statements and select the
correct answer from the codes given below :

Codes :
(a) Both (A) and (R) are true and (R) is correct
explanation of (A)

(b) Both (A) and (R) are trye but (R) is not the
correct explanation of (A)

(c) (A) is true but (R) is false

(d) (A) is false but (R) is true

Which one of the following is NOT among of those
four Refurbished Heritage Buildings in Kolkata that

were dedicated to the natigp i, January, 2020 ?
(a) Old Currency Building

(b) The Metcalfe House
(c) Victoria Memoria| Hall
(d) Writer’s Building

: ; Iganisaty ;
following countries wag effecte b'i:/nt,);/vhlch one gf thi
of measles in the worlg duri ggest out-brea

(a) Benin "8 January 2020 7
(b) Senegal
(c) Democratic Repub);, of Congo

(d) Nicaragua
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1 (R) : N % T B ST il ey |
mmﬁmwmwﬁﬁ%@@am
I H1 I HINT ‘

Eimsﬂx (R) 3l @rew & 3 (R), (A)ﬁr;rgmwn
CacId _

(b) (A) 3Kt (R) A1 A § T (R), (A)ﬁm%
T8 Fa B

(c) (A) & 2 9t (R) T &

(d) (A) T 2 9T (R) §T B

ﬁm%ﬁaaam%,ﬁ?ﬁ@t@ﬁw(mm?@
Y H (R) el T R
W(A):mm@@s}ﬁ:sﬁam,mm
% fore way = o | "
m(n):qﬁmwmaﬁm-m
nma@ﬁ@vﬁﬁmﬁsﬁmﬁqhﬁmél

+<:

(a) (A) 31k (R) 3t wew & 3tk (R), (A) ) et e
AR

(b) (A) 3R (R) At et § weeg (R), (A) 1 it s
&l T

(c) (A) ¥4 } v (R) oy 2

(d) (A) 38 2 T (R) wer 3

ﬁ%ﬁﬁﬁa—mm%wwm
mmamaﬁ%mw 2020 # Tg
I wutda fomam my - ‘
(a) >Tes wi fafeen

(b) & AeHE TT=Y

(c) T At grey

(d) TaeH fafeen

o v W1 % srEm sEEd 2000 # frfofea 3
EZEESIRR R Rt TR S R N
(a) 3=

(b) ¥

(c) il Sehaifys ToRTsy

(d) Femmgen -
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100.

101.

102.

103.

104,

105.

106.

In w.hlch of t_he following countries of Africa
Continent, India opened its first Mahatma Gandhi
Convention Centre in January, 2020 ?

(a) Niger (b) Nigeria

(c) South Africa (d) Zimbabwe

InJanuary, 2020, Michelle Obama was conferred with
Grammy Award for which of the following albums ?
(a) Becoming (b) Last Christmas

(c) White Rose (d) The River

Which of the following is NOT correctly matched as
per the World Economic Forum's release of Global
Talent Competitive Index, 2020 ?

(Country) (Rank)
(a) Switzerland 1
(b) Singapore 3
(c) India 72
(d) US.A. 4

Consider the following statements about a 13 years
old girl, Suchetha Satish who won ‘100 Global Child
Prodigy Award’ on 39 January, 2020 at Delhi:

1. She lives in Dubai (U.A.E.).

2. She can sing in 120 languages.

Of the above, the correct statement/s is/are :

(a) 1 only (b) 2only

(c) Both1and 2 (d) Neither 1 nor2

COP-26 in the year 2020 is scheduled to take place at
which of the following cities ?

(a) Glasgow (b) Madrid

(c) Frankfurt (d) Helsinki

Baku, the capital city of Azerbaijan is situated along
the coast of which one of the following seas ?

(a) Black Sea (b) Levantine Sea

(¢€) Caspian Sea (d) Aral Sea

Match List — | with List — Il and select the correct
answer from the codes given below the lists
List -1 List—1I
(Grasslands) (Continents)
A. Lanos 1. North America
B. Steppes 2. Africa
C. Prairies 3, Europe
D. Veld 4. South America
Codes :
A B C D
(a) 4 3 1 2
(b) 2 3 4 1
(c) 4 3 2 1
(d) 4 1 3 2
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e &g (b) TR T
(a) fefT (d) &R
(c) Bre .

: AT sifcreret e
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ZOZO%WWEL;S) @mqﬁ%?

) i
(a) ferETATS 3
(b) Fmg 7
(c) v
(d) 3.TE.T. 4
& st 5020 @ fecht # 100 THEw =es Ak
S e areh 13 it g G W wd
P sl T frem AR : '
1. 7 gad (7.0.4.) A R
2. @ 120 WTaTad & TET- T EHA
(a) ol (b) aet 2
(c) 13 23 (d) 1782
w9 2020 # HT-26 1 3o faeferfam wed # @
(a) w7 (b)
(c) Bt - gfgm
INTERAN it
AT ot g g T e § T
(a) sHTer | :

Homa e (b) Fém amR
:;)ﬁ mw I8 S
R ¥ 2 e s e fed 579
(S Wmiﬁq:

i ) -1
A. TR (wgTm)
B.RMw e b IU0 W
C. Yatw 2. afF
D. 3. 3
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(a) 4 g o D
b 2 3 1 5
() 4 3 9 1
(d 4 i 2 1
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109.

110.

111,

112.

113,

fiWo-dayWorkshop
i Wonder Grass” was

cum-Exhibitionon “Bamboo-A
heldon januaryf 11-12, 2020 at
wing cities of India ?

(b) Guwahati

(d) Imphal

which of the follo
(a) Agartala

(c) Jammu
Match st — | with List =l and 7ele<;:12hlcia tco.rre‘:t
answer fl:om the codes given below sts

Use List =11

ist -

(Tribes) . (JAa'::rt
. Khirghiz 2: Arab
C. Eiuns:man 3. Central Asia
D. Badduin 4. Kalahari

Codes :

A B C D

@ 3 1 4 2
(b) 2 3 4 1
© 3 4 1 3
@ 1 2 3 4

Which one of the following is largest lignite coal
field in India ?
() Singrayli

(b) Makum
(c) Karanpura

(d) Neyveli

Which of the following rivers of India is NOT 3

tributary of Damodar River ?

(a) Barakar (b) Indrawati

(c) Jamunia (d) Barki

Which of the following is NOT cor
(Canal Project)

rectly matched ?

(Location)
() Ghatprabha Canal Project — Karnataka
(b) Ukai CanaIProject - Gujarat
(c) Nira Canal Project = Maharashtra
(d) Jawai Project - Tamil Nadu
Which one of the following Statements js tr.
b dond ue?
(a) leisah Is the largest foducer of Chromite in
ndia,
(b) KaJir;ataka Is the largest Producer of Silver in
ndia.
i ﬁunl(rjzzgg.PradeSh has largest reserve of Bauxite
isha has |
el l(r)wglisa'.’a > TaTBest reserve of Manganese in

The iron-ore reseryes of Indiz e associate d with
which of the following rock

Systems 7
(a) Dharwar ms ?

+(b) Cugg,
i Ppah
(c) Vindhyan (d Condrrr

107.

108.

109.

110.

ITTY

112.

113.

BES
0\19

eI 11-12 Sad, 2020 Y wg mwmﬁ%\
T # R B o e H”%ﬂﬁﬁ

"ah_w T:ﬂgé urg” ﬁqn T T é[,

(a) 3rTaen (b) Tarar
(c) 5/ (d) 3o
—lﬁq?ﬁ-llﬁgﬁ%a%m
:@ﬁ"' T~
A. fatfs 1. SmF
B.ﬂ?ﬁq 2. m
C T 3. e Wiy
D. 75, 4. FHiEmRH
*2:
A B ¢ p
(@) 3 1 4 v
() 3 4 1 2
d 1 2 3 4
mﬁmmmmmaﬂ P 44
FH-T R 7
(a)w (b) W
(€) viga (d) %3
mﬁﬁw%ﬁga?%ﬁﬁﬁaﬁq_mmmﬁ
HETS = 3
(a) Tt (b) T
(€) gfan (d) amh
@) wonn Tt L g
(b) 3% 77wy - m
(c) 0 T&x s - g
(d) a7 whomy - g

T T AE-37 ER FresfiRw i & Fa S T |
Fa=Efa g ?

(a) vrET
(c) famemm

(b) wgomr
(d) Tvgam
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115.

116.

117.

118.

119,

120.

BESQ < %
Selva forests are characterized by 2
(a) Broad leaf evergreen 114, fyee wpa oy fordiadl |
(b) Broad leaf deciduous (a) =) et FAAET
(c) Con!ferous evergreen (G ERGIRGEE
(d) Coniferous deciduous (c) vl wrER
. (d) vigend) waets At
In which of the following cities, the ‘Centre for Social ‘ T W 5o TR %
115, gy arfred Jrafedd 2
Forestry and Eco-Rehabilitation’ is located in India ? ' N pl 3 forl T | EPJT’TUT‘T'
(a) Dehradun (b) Prayagraj A (b) m
(c) Nagpur (d) Bhopal ((2; még"? ()
_— » Preaferfiam §
The ‘Environmental Protection Act’ in India was 116 : &l aferfe éﬁwiﬁ
ved in wihi A . YRa ¥ ‘ggferr 8
enacted in which of the fo)lowing years ? A i mam o1 ? 1986
(a) 1980 A.D. (b) 1986 A.D. ‘ a) o5 s G
(c) 1992 A.D. (d) 1994 A.D. (@) 15674, (d) J
, frefafed ¥ § 5.
Which one of the following is arranged in correct | 117. 2011 & =Ml i ﬂ:; LR mf@:r%‘?
descending order in terms of population density SEE gqed gfee o T S
as per 2011 census ? ) S fargm, e, I
(a) West Bengal, Bihar, Kerala, Uttar Pradesh (a) S Ll 1, A
(b) Bihar, Uttar Pradesh, West Bengal, Kerala (b) fergm, I ¥, s, T, A
(c) West Bengal, Uttar Pradesh, Bihar, Kerala (c) ufgerdt @A, 3 %{a T
(d) Bihar, West Bengal, Kerala, Uttar Pradesh (d) forgm, wfgardt Tt ’
' #Hifere 3 gt
Match List — | with List — Il and select the correct | 118. ¥t —| @ gt - k2l Wﬁﬁq . AR
answer from the codes given below the lists : AT g A TR TWH =g :
List-1 List—1I - -1
(Phenomenon) (Compounds) (@)
A. Acid rain 1. Chlorofluoro (ae) et
carbon _ A. ¥ W .
B. Photochemical smog 2. Carbon monoxide B. SHNI-TEREMS 4 2. Wm
C. Combination X 3. Sulphur dioxide C. g % Wy gaed . 3. HoHt AT
with haemoglobin F. R T m’ m@:ﬂéq
D. Depletion of 4. Unsaturated D. 3Tl T T & 4. .
ozone layer hydrocarbons F: -
Codes : | A B C D
A B C. D @1 2 3 4
(a) 1 2 3 4 (b) 3 2 4 1
(b) 3 2 4 1 (c) 3 4 2 el
3 4 2 1 @1 3 2 a4
(d) 1 3 2 4
‘Mycorrhiza’ is a symbiotic association between 119. (‘:l)séﬁl(lsﬁlaml @M F{Eﬁﬁaﬁ% Y R
(a) Algae and plants (b) Famet 3k m%q:;
(b) Algae and fungi (c) T 3R 9wl ¥
(c) Fungi and plants (d) et 2 3;:2‘
(d) Blue green algae and fungi T 3R s & wem
. Torftell Fam y : ?
Which of the following facts is NOT correct about | 120 a ﬁ:ﬁ&iﬁqﬁ«ﬁ-@ﬂ % o 7 @ qﬁ;{%
vitamins ? . g;_a T e g wveit
(a) Some vitamins can be synthesised by g : '
intestinal microorganisms (b) T afm gt T T
(b) Some vitamins act as hormones (c) Fo faafm TR oS
(c) Some vitamins are stored in body (d) TP K’ Sy 3 A &
(d) Vitamin ‘K’ is a water soluble vitamin ' W Yt fyerfe 2
e i —
21-
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